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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Answer as directed : | 1x8=8
ol SR Bed a8
Which of the following best represents
S \the concept of the time value of money ?

_{oy Money losses value over time due
*] to inflation.

sfp) A rupee today is worth more than
a rupee in the future.
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(c) Money has no time relevance.
(d) Interest rate ﬂuctﬁat_ions
determine investment decisions.
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(i) The cost of éapital is important in
financial decision-making because—
(@)

It helps calculate working capital.
(b)

It determines the maximum return
on investment.

(¢) It is used as a benchmark for
investment appraisal.
(d) It is needed for inventory
management,
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e pobaosdnacan . decision, involves
G rcIi‘:ti:rr.I;.i'r‘lli‘ng how much profit should
be retained in the business.

---------
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) A firm with higher operati_ng leverage
i ‘11 have lower business risk.
i (True or False)

< 74 SIS 471 <Dl S TIPS
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When a project should be jccepted
o under Profitability Index (PI) *

(a) When Pl > 1.0 .
{b) When Pl < 1.0

(c) Whena Pli=10

(d) None of the apove
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9. Answer any six from the following

ST SIRF oI5 (PI)-3 ST S GF 25 o | - questions: : 2x6=12
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(i) How does the concept of Financial

Management influence decision-making

() cfeat pr=o | within a firm ? :
() SoRE HIEAIGIER o1 | RSt g 4R afb Ao B oxe
CoetE gy sh | (@A 2O (TR LF T 6
PREN archolders are the creditors of the . . < :
3 (True or False) ;' (i) Define Capital Rationi
SR C202 (FATIGR el | | R SRR e |
(i1 ¢ fm) ne
‘ - R _ (i) State any two differences between Net
Fias s » Capital Structure and ' Present Value (NPV) and Internal Rate
ancial Structure means the same. of Return (IRR). 20
(True or | p
LIS e oF Talg) e <RI T 19 (NPV) OIFe SIS <o
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(viii) Greater the size of g business unit oyl i

in working capital management.

.............

will be the requirements of

working capita]. . IR e TIPS ARBI DS 41!
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(vJ] A company issues 1000 equity shares
of Rs. 100 each at a premium of 10%.

The company has been paying 20% |

dividend to equity shareholders for the
past five years and expects to maintain
the same in the future also. Compute
the cost of equity capital. Will it make
any. difference if the market price of
equity share is Rs. 160 ?
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(vi) Why n?ight a company prefer internal
financing over external financing ?
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RE AL T @R T TR Al o g

(vi) What is meant by permanent working

capital ?
R S A e & e zme
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(viii) Explain the role of a financial manager

in investment decision.

RfhE PEs @R Cﬁa—‘am7rﬁﬁﬁﬂ
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Define Pay-out Ratio. .
sifRpediy =T e |

3. Answer any four from the following

questions :

5x4=20
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(1)

(i)

Explain the three major decisions in
financial management with suitable

examples.

&S ATEPRR fORG! daR e See
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Elucidate the capital budgeting process.
et e AR R =
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(i) Assume a business is planning to
expand its operations. What long term
sources of finance could it consider and
how should it decide among them ?
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(iv) Discuss in detail the Gordon’s model
of relevance of dividend policy to the
valuation of an entity.
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'ar\A S—year Rs. 100 debenture of a firm
~“.s:an be sold for a net price of Rs. 96.50.
?jhe coupon rate of interest is 14% per
&*annum and the debenture will be
redeemed at 5% premium on maturity.
The firms tax rate is 40%. Compute
before-tax and after-tax cost of
debenture.
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(vi) State the meaning of risk and return.
Analyse the risk and return relationship

in taking investment decision.
RIS S O uafw@nﬁﬁmﬂa
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(vzz) Explam the various factors which
Eg“b,;, influence the dividend decisions of a

oS SToIIe s 2l Tt RS
gt <=1 |

viii) What is meant by aggressive approach
to financing of working capital ?
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4. Answer any two from the following
questions

©=TS R eXIERR »RI Rzt ghia Seq o ¢

(a) Effective financial management requires
clear and measurable objectives that
aligns with the overall goals of the
business. In this context, discuss what
are the primary objectives of financial
management and how do they help in
achieving the firm’s success.
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. S(b) Al cHoice is to be made between two
competing proposals which require an
equal investment of Rs. 50,000 and are

expected to generate net cash flows as
under : '
Year Project-1 (Rs.) Project-2 (Rs.)
1 25,000 10,000
2) 15,000 12,000
3 10,000 18,000
4 RN 25,000
S 12,000 8,000
6 6,000 4,000
[l
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10x2=20

; ; S
| The cost of capital is- IO%d. Whic
| » project should be chosen under

(a) Payback period
(b) NPV method :
i‘. ' And comment on the results.
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(c) Firms often follows different approacl_les |
to decide their capital mix. According |
to it what is meant by capital
- structure ? Explain any two capital
structure theories with their key
assumptions and conclusions.

AV A orem o (Capital
Mix) fFefieet eicet Rifem o1g1 wrpre 51| 072
AR, o S (Capital Structure) &
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(d) Discuss the various forms of dividends.
go\\eg%é;\a[hat are the assumptions and criticisms

/ G\M. M. (Miller and Modigliani)
thesis under dividend policy.
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. (e) What factors would you take 11{11;;
consideration in estimating the workl
capital needs of a concern ?
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